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wiEk MEEHSEE

% g g - BRKTE B4 =B ] ® B "=
EEREE 1,793, 539
HER 1,793,530 x 79.5% — 9,402 1,416, 461
REERE 1,793,539 + 1,416, 461 3,210, 000
BRI 1,293,760 + 15,000 1,308, 760
EEAGE 1,293,760
EEEE 15, 000
Z Dt 1,293,760 x 53.85% ( 35% + (1 — 35%) ) 696, 689
RHRME 1,308,760 + 696, 689 2,005, 449
—REEES 2,005,449 x 53.85% ( 35% = (1 — 35%) ) — 5, 383 1,074, 551
BEHES T 2,005,449 + 1,074, 551 3,080, 000
e Ll 3,210,000 + 3,080, 000 6, 290, 000
HERERLE 6,290,000 x 10.00% 629, 000
HMISREE%R (IR E 6,290,000 + 629, 000 6,919, 000




BERARE MEEHSEE
% o 1B - ik By . i ¢ = # B
EiZEREE 3,102, 299
MESIREER 3,102, 299
HMSIREER 3,102, 299
WMSIEE 3,045, 299
BEE 841, 446
1 FE#RB 1.00 559, 584 559, 584
o
2 HEAEWE 2FEEHY) 1.00 281, 862 281, 862
=
HWEEE 1,945, 334
3 HEfE - BE 1.00 1,599, 576 1,599,576
4
4 BREE 12.90 26, 803 345, 758
km
fRHT 258,519
5 EHEEN 7.90 32,724 258,519
km
EEEE 57, 000
R 15,000
6 ¥R 1.00 15, 000 15, 000
%
HBIREE 42,000
1 EIERERE 1.00 42,000 42,000




R -FET/vr—2 AR SIER

&5 1
& FEER IEED)
% bz g - BIRTE BARL #H = B ® # HE B %
HEh&
A 1.00 70, 900. 00 70, 900
FEHER (%5
A 2.50 62, 200. 00 155, 500
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 0.50 35, 600. 00 17, 800
B E FEHER
A 1.00 51, 000. 00 51, 000
B E R
A 1.00 44, 000. 00 44,000
BIE e
A 1.00 34, 300. 00 34, 300
A EX XY
% 0.50 556, 800. 00 2,784
& G 1E3£BEH - 1.00= 559, 584. 00 559, 584
&5 2
2 BEAERR QRS Y) 1KLY
% bz & - BIRTE BARL #H = B ® # W E B &
BIEWHBENE
A 4.00 27, 000. 00 108, 000
cSwy 11t3&
H 2.00 44, 230. 00 88,460/4. 70H / 8H
STTFL—ryL—r HHEAARER) GhEfRiE > J&) 25t A
=] 2.00 42,000.00 84, 000(8H
HEME 2R0DY%
% 0.50 280, 460. 00 1,402
& ¥eEEH - 1,00zt 281, 862. 00 281, 862




R -FET/vr—2 AR SIER
&S5 :3
G 0 - 18 Y
2 iFfr\ 1B - IR E By B B @ = B =
REE SA4 kN2 2L
=] 4.00 3, 300. 00 13,200/2.00H / 8H
HREEREE BEEETAREEI L. BRE. hE
H 2.00 23, 925. 00 47, 850
E[ED $8D 200PSE
H 1.00 181, 776. 00 181, 776|6.00H / 8H
mELHm FRP
=] 3.00 58, 410. 00 175, 230|8H
TERER G
A 3.00 62, 200. 00 186, 600
HEm (A)
A 4.50 55, 200. 00 248, 400
HEm (B)
A 3.50 45, 300. 00 158, 550
SR
A 2.00 44, 000. 00 88, 000
AERMA
A 2.00 34, 300. 00 68, 600
AEBT
A 6. 00 32, 200. 00 193, 200
AERE
A 6.00 27, 000. 00 162, 000
HHH 0%
% 5.00 1,523, 406. 00 76,170
=) B YEZERES ¢ 1. 0048 1,599, 576. 00 1,599, 576




R -FET/vr—2 AR SIER
&5 : 4
&% : HERE 1H4Y (24.6km)
2 iFfr\ 1B - IR E I g B ff & & i B =
REE SA4 kN2 2L
=] 1.00 3, 300. 00 3,300[2.00H / 8H
g £HED 200PSEY
H 1.00 181, 776. 00 181, 776|6.00H / 8H
mELm FRP
H 1.00 58, 410. 00 58, 410|8H
HRREREs BRBETAREEI L. BRE. Lhs
=] 1.00 23,925.00 23,925
GNSS;IfI & DGNSS
H 1.00 25,575. 00 25,575
EEAEE 15A®  100kHz
=] 1.00 9, 256. 50 9, 256
TR (35
A 1.00 62, 200. 00 62, 200
BE (A)
A 1.00 55, 200. 00 55, 200
B (B)
A 1.00 45, 300. 00 45, 300
SIS AR
A 2.00 44,000. 00 88, 000
IS TR
A 1.00 34, 300. 00 34, 300
AEBTF
A 1.00 32, 200. 00 32, 200
AERHE
A 1.00 27, 000. 00 27,000
HHH EY 0L
% 2.00 646, 442. 00 12,928
= H EZEREN : 24.60km 26, 803. 00 659, 370




R -FET/vr—2 AR SIER
&S :5
GF . BT 100km4 Y
2 m 1B - IR E By B B @ i B =
FERER GRED
A 12.00 62, 200. 00 746, 400
HEm (A)
A 16. 00 55, 200. 00 883, 200
B (B)
A 16. 00 45, 300. 00 724, 800
& (C)
A 0.50 35, 600. 00 17, 800
AR
A 8.00 44, 000. 00 352, 000
IS TR
A 8.00 34, 300. 00 274, 400
BT
A 8.00 32, 200. 00 257, 600
HHH 2H0%
% 0.50 3, 256, 200. 00 16, 281
=) B {YE%8E5 :100. 00k m 32, 724.00 3,272, 481
BS:6
L EBRER 13ty
& 7 B - kTR By B B ff @ i B =
EBRERE
= 1.00 15, 000. 00 15, 000
= it 1E¥8EH 1. 00X 15, 000. 00 15, 000
=7
2% I ERERESE 13ty
2 m B - IRTE Bify B B # T B =
HIEERE
= 1.00 42,000. 00 42,000
=) it 1E¥8EH 1. 00X 42, 000. 00 42,000




Hiffix—% A SHSIEE
No. % o1 1% - Bk By i BERS (H) | #E{ENo. ELE ARG - BIRT3E
rSv% 11t 2| H B QEE L Y)
=] 44,230| 4.70H / 8H
205775 L—vhL— BEHR | CHERRES JE) 25t/ 2| HHE QEELY)
*EEE) =] 42,000 8H
3ZEE 5S4 FAY 2 IER - BE
=] 3,300/ 2. 00H / 8H
I RER
4|5 £MD 200PSEY 3| - B
=] 181,776| 6.00H / 8H
4 HREE
S|RESH FRP B S
=] 58,410 8H
I HaER




==Xl MEBHSIEE
HEERSES 1
BlXREM: Sy 11t 1HXY 4.70H / 8H
2 b 1B - IRTE B g B B ff # S " =
FZ3
L 52.00 142.00 7,384
BT (—B)
A 1.00 20, 300. 00 20, 300
BE (FSvsEaE) 10~11t78
5 Rl 4.70 1,020. 00 4,794 pEE IR
BE (FSvsEaE) 10~11t78
A 1.13 10, 400. 00 11, 752 #HERe
& =t 44,230
HEXRES : 2
BEREH: STTL—2y L—Y GEEARAER)  GAEMHES J) 25t 1B%Y 8H
2 7 1B - BIRTE B gy B B ff & w = w =
BH (SI7FL—2HL—y [HEBREY |25tH
J H 1.00 42, 000. 00 42,000
= E 42,000
BfHXES 3
HIMREW : 3@EE 54 b2 2L 18%Y 2.00H / 8H
2 b 1B - IRTE B g B B ff # S " =
DD
L 6. 00 154. 00 924
BE (54 RS [ HEREN]) RETE5% HaE2 0L
R 2.00 290. 00 580 pEE IR
BE (54 AT [ZHEREH]) REEESE HaE2 0L
=] 1.19 1,510. 00 1,796 #EA
& & 3,300




==Xl MEBHSIEE
HMxXHES : 4
HEXLH# : 51/ $HD 200PSH! 1B Y 6.00H / 8H
2 b B g B 1 # i " =
E)
L 137.00 107. 00 14, 659
SHME
A 1.20 27, 900. 00 33,480/ 5=1.20
ETEME
A 1.20 22, 400. 00 26,880/ 3=1.20
B G D 200PSE!
R 6. 00 1, 760. 00 10, 560 pEE IR
BE GImEEE) D 200PSE
=] 1.65 18, 300. 00 30,195/ v=1. 65 #HAR
REEEE
% 25. 86 115, 774. 00 29, 939
—fREEE
% 24.75 145, 713.00 36, 063
=) it 181,776
BHfxHES :5
BfiELH  HEAM FRP
2 7 B g = B ff # i ® =
BE (Eeh BREER) ) FRPEY
A 1.65 35, 400. 00 58,410/ ¢ =1. 65 #HAR
& & 58, 410




